Ratio to ATLAS

1/od?/ d m> M d |y vGev]

=
o
R

|
o
@

—_
<
D

[EEY

0.5

13000 GeV pp tt
T I T I T | T I T I I I T | T I I I I T | 9
| . . 1
— M(ttbar) (ATLAS semileptonic ttbar) 13
— =
(Q\]
B A
B —c
—i
| I
)
13
=
= —&
B 1<
(90)
— <
(40)
©
(@)
(90)
I — 1<
- ==
— m ATLAS 7 >§
~ —&— Pythia 8.308 default 1
| — - Pythia 8.308 tune-4c | ;’
----- e Pythia 8.308 tune-4cx §
8
o
— _lo
) | | | | | | | | | L Iz S
: T T | T T T T | T T T T |:

- 32
1

B —0.5

1 " 1 " | " 1 " 1 1 1 " | " 1 1 1 " 1 " |
1000 2000 3000

m“*1} [GeV], |

tbar

y

M in [0.65,1.3]



	Contents
	Page 1


